|

= AG : ;
ccording to Mendel, the phenotypic ratio of F;

generation of a dihybrid cross is -

W ¥ AR @ e waon 3 R iy O

BT THIATEY ST Brm —
(A) 1:2:1, (B) 913131 1L,
(€) 15:1 (D) 3:1

What proportion of area of state of Rajasthan is
desert?

(A) Two-third (B) One-third

(C) One-fourth (D) Half

TR T & fpan s weererg & ¥ 7

(A) d-ferd, (B) us-fed

(C) us-drg (D) amar

If the height is doubled and the base is decreased
by 20%, then the ratio of old area of the tfiangle
and new area of the triangle is - '

g Sard St g AT fear T oY S @ 20% BH
¢ e o, o e & gue e ot Bret &

STHA B U & —
(A) 4:5 (B) 5:8
(C) 3:8 (D) 2:3

A milk like preparation can be made from the
seeds of

(A) gram (B) maize
(C) barley (D) soyabean

¥ €9 20 TH g I Al 9 w0
g&al &l -
(A) = (B) w1
(C) =i (D) wrEH.

‘Arun Hydroelectric Project’ is result of co-
operation between India and .-

(A) Nepal (B) Afghanistan

(C) Myanmar (D) Bhutan

gy ST SR AR e % W
&1 gremd &1

(A) (B) s

(C) = (D) e

Vitamin that acts as a hormone and increases
absorption of calcium is -

(A) Vitamin K (B) Vitam!n D

(C) Vitamin B, (D) Vitamin B

a8 fazifie St Tt & aE B B % ot dfvaad

(B) faaifim &1

PP
(A) (D) Pt 4,

(C) feraif e ﬁz

3R] O

10

11

12

‘Amendment” & fora wdr oo oTeE ¥ -
(A) wefd (B) orgAreT
(C) dsnes (D) ufted

Choose the correct alternative for translation of
the technical term :
(A) practitioner
(C) supplement

(B) plotter
(D) backplane

4im|
log {T’ is equal to g

log|4!Tm} & A & -

(A) 2log2+logl + logm —logk
(B) log4—logl — logm —logk

(€C) log2+logl — logm +logk

(D) logd+logl! + logm +logk

A person with blood group ‘B’ can donate blood
to persons having -

(A) B and O blood groups

(B) A and AB blood groups

(C) B and AB blood groups

(D) A and O blood groups

‘B’ #UT ol aren wfw o it it & =i @
T T BT [EHAT &, 96 & —
(A)_B ud O s i &t
(B) A uwd AB ®fux ami @t
(C) B ua AB wsftrz gt &t
(D) A wd O sfax ot @t

forg g % qet ar & A B@ Ragw Redt 7 Rl
wq W fqemm e §, o® seq ¥7

(A) @& (B) s qgew
(C) WWaH agey (D) &HHur™

A cross between heterozygous progeny with its
homozygous parent is known as -

(A) Effective cross (B) Back cross

(C) Pure cross (D) Test cross

faegTaeh! T QU1 TEE THYTI TS % N Wl
@ FEd & -
(A), THEl FHT (B) & watwr
(C) I& " (D) wdiewr geror
[ Contd...
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following represents the climate of Jaisalmer?

6, 7, 8, 9 are substituted by /, m, n, 0, p, 4, I;

Gt it : igits 0, 1,203, 4,
13 As per Thornthwaite’s classification which of the @Wln a imaginary language the digits
3y

UMEE & TG & AR Preafifas § ¥ @

TR A WA BT B 27
(A) CA'w (B) DA'w,
(C) DB'w (D) EAd

14 Which among the following position is not held

by Chief Minister of Rajasthan?

(A) Member of National Development Council

(B) Chairman of Chief Minister's Advisory
Council -

(C) Chairman of Rajasthan State Human Rights
Commission

(D) Member of Inter State Council

Prefefes ¥ & @ @ woram & g@ w=H @

Rl

(A) Ty foew g &1 ™

(B) T&7 =t veesRr aify @1 orsas

IS Convert the following indirect speech into direct
speech by choosing the correct option :
He inquired whether his name was not Ahmed. _
(A) He said to him, “Was not Your name Ahmed?”

(B) He said. “Was not his name Ahmed?” 20

(C) He said to him, “Is not his name Ahmed?”
(D) He said to him, “Is not your name Ahmed?”

16 The edge of a cube is increased by 20%, then its
volume is increased by -

% 99 & T 20% @ ghz B o 3, qa s
T # g gfg & -
(A) 60% (B) 72.8%. 53

(C) 80% (D) 20%

17 Which of the following districts of the state are
located on the international boundary from south
to north?

(A) Barmer, Jaisalmer, Bikaner and Ganganagar
(B) Jalore, Jaisalmer, Bikaner and Ganganagar
(C) Ganganagar, Bikaner, Jaisalmer and Jalore
(D) Ganganagar, Bikaner, Jaisalmer and Barmer 22
m&saﬁa&ﬁrﬁﬁaﬂ@uﬁmwd&wlgwﬁ
T feerg £ 7

(A) arEay, StEaat, f&HT vd
(B) i, Se@dt, diemT ud
(C) T, e, Faait Ud s
(D), T, 9T, FEAT UG iy

3PR] O " 3

s, t, u respectively and 21 is written as nm, then
'[(m - qr') X an is equal to -

ufy va @t s o o 0, 1, 2, 3, 4, 5,6, 7,
8, 9 @ w9 [, m, n, q, p, g, I S, t, uﬁ‘gﬁr&mﬁﬁ[ :
Prar & aur 21 &Y nm faar srar &, @ %2~

[(!o - qr) X mn} auar - (9 w3-6x6)X 1%

(JY~30)>1t
(A) —qtu (B) —onp | »
(C) qtu (Bx3-sxc)p(D) onp . I ,q - P2 ol

5% DA ';xE}-x!L
e (LI u Vl-;q ?j’;i,o?y ¢ Adw

¢ ¢

”

19 Whercare files moved in windows after déletion? Zx1x

(A) Recycle Bin

(B) Control Panel

(C) My Documents

(D) Windows Explorer

fSefie 8 % ar Ridtw & wre wef oy £7
(A) Tramfea fm

(B) %

(C) wm siwgizy

(D) faveis T

The Vagadi dialect is spoken in the area
of Rajasthan.

(A) South - western (B) North - western

(C) North -eastern (D) South - eastern

AT A oA ¥ & F Sl o ¥
(A) o1 - wReh  (B) wwr - oRved

(C) st - gt (D) =T - o

For how many years biological patent is legal in
India?

(A) 10 years (B) 15 years
(C) 20 years (D) 5 years
i) 20w (D). 5

Where was Bhakti Saing Ran
(A) Dehara

(C) Sanchore

abai born?
(B) Pilibanga
(D) Harnawg

Wid g IR &1 o gy B a7
(A), 2&qr 3 ®) %
(C) wiar ¥ D) i“i'_ﬂ'"ﬁ
[ (—‘.nr\t.\!
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24

25

26

27

28

29

2PR | O

! ’s salary is 30% higher than S’s salary, The
‘percent that S’s salary is less than R’s salary is -
R & ¥ S & aa & 30% i 1 R & qq &
gl § S & Ja & i ¥ -
s
(A) 23 -WF (B) 30%
" 1] Vi
(©) 25% (D) ?‘zﬁ% T
=
How many times do the hands of a clock coincide A
in 36 hours? b
36 wva ¥ ws W o gedt e e P 87
(A) 35- (B) 36 'SB
©) 39 (D) 33-
Who is Chief Election Commission(;t:}of India?
(As on 18 December, 2022)
(A) Sunil Arora =<
(B) Om Prakash Rawat [ i
(C) Susheel Chandra )
(D) Rajiv Kumar
TRd & & g AR B E? (18%@1,:2022 33
& SIER)
(A) g ST &
(B) &M webrst TEd oy
(C) gt a1
(D) TG FAT “;T‘
A Sum becomes ¥ 8,800 in 4 yearsjat simple
interest at the yearly interest rate of 25%;p-a. What
is the sum (in rupees)? )
@uﬁtmmmWZS%aﬁmwaﬁ4aﬁ
¥ 7 8,800 @ s &1 A (29 ) T ¥ 7
(A) 2.200 (B) 3300 C.0
(C) 4,400~ (D) 1,100 €
. =i
8 & 9T AT geray @ @é o
(A) wram@ 7 & 0 33
(B) TaUEe .
(C) aftd gave BT "
(D) fammer & @& U6
5 & o e A i e B
St N
(A) W,_ﬁm o
(B) 4, WIER, _ e
(©) g, T, T
(D), ®iad, &, '
When was Rajasthan Foundation setvup? 34
FrovssH @l T & g
(A) 2000 (B) 2002
2001 -
(C) 2003 (D) 20
4

30 If ratio of length of vertical rod and length of its

ULk
shadow is |:+/3, then angle of elevation of sun
is-

gmawfmasaﬁmréamsﬂaﬁwzﬁmm

S 1143 B, @ g4 @ o B -
(A) 459 (B) 60°
(C) 900 (D). 30°

In MS Word, when the page margins are altered or
when the text does not fit on the current line,
which feature automatically moves the text to the
next line? .

(A) Word Enter (B) Word Format

(C) Word Scroll (D) Word Wrap
Wﬁﬁ,mﬁmqﬁwﬁw%&aﬁ%mm
Yoz @tz A W 52 T A, A B weal
mﬁm;ﬁﬁmwﬁgmm%?
(A) a8 Uzt (B) 9% w4z

(C) o€ & (D) =% @

Which of the following organisation was founded
in 1921 in Shekhawati under the impact of Non-
cooperation Movement?

(A) Chirawa Sewa Samiti

(B) Shekhawati Kisan Panchayat

(C) Shekhawati Prajamandal

(D) Shekhawati Sudhar Sangh

Pread § ¥ S & fee de @ s 1921
¥ oraedn S & W § gF 47

(A) fasrar &=t gt
(B) sramar far e
(C) @@l oS
(D), ramEr U w
~ [0.064x6.25
What is the value of m ?
0.064x6.25
e m AR R ?
0.081x4.84
10 10
(A) 'E (B) 99
100
) — D) 9
(C) 5 (

‘Hﬁﬁﬁﬁﬁﬁﬂﬂﬂﬁtﬂ%’mﬁﬂ“'m
fagtoor &2

(A) sRHmETES
(C) TS

(B) H&AE@ES
(D) kA

[ Contd...

Scanned with CamScanner



35 In a mirror the image of an X rI‘c::[‘)"ject é{f);fa'eared to
be inverted and enlarged. The type of mirror is -
(A) Concave mirror (B) Convex mirror

(C) Parabolic mirror (D) Plane mirror
mmﬁﬁﬁ@meqﬁﬁamamﬁw
o 1w @ WPk ¥ -

(A) ¥ g (B) Iaw@ quv

(C) wiamtys wdw (D) ¥ Tqur

36 Choose the correct antonym of the following word
from the options given :

Freedom
(A) -liberty
(C) independence

(B) unchained
(D) slavery

37 Lakshya Sen and Kidambi Srikanth are associated
with which one of the following sports?

(A) Cricket (B) Badminton

(C) Tennis . (D) Football

wEg 9 1 Reerdr diaia Freaiead ¥ ¥ feg @@ &
gt €7 ; :
(A), oz (B) s .

(©) (D) geam

38 Who among the following artisans awarded
Padmashri for Terracotta of Molela?

(A) Mahesh Soni

(B) Arjun Prajapati

(C) Shree Lal Joshi

(D) Mohan Lal Kumhar

o1 et § & T8 ST &% A & oo gy

J

Tt e mar &7
(A) wesr g
(B) & wemdfa
(C) 4 @ shgh
(D) Hreard gFert
1
39 The first space ship sent out of the solar system
was -
(A) Mangalyan (B) Pioneer - |
(C) Pioneer - 10 (D) Chandrayap - 7
dit wved &% ATel W AT UEAl haiy g —
(A) HTTEE (B) Wi .
(C) Ut - 10 (D) ¥=OM - 2
3R] O | 5

40

41

42

43

~Saly

. . b
In which one of the following forts is Jhaliba

Baori and Mamadev Ka Kund located?
(A) Gagron fort (B) Kumbhalgarh fort

(C) Taragarh (Bundi) (D) Chittorgarh

el Al ot HHIS P Feperfrfia 4 ¥ 08
gt fisfera 7

(A)serdr g (B) e g
©parms (@) (D) fieTe

" '
Tth,__Ejlection Commission of states givef their
rccéminendations ‘regarding disqualification of
assembly members —
(A) To Governor
(B)&To Lokayukta
(C)¢To High Court
(D)*<To Chief Minister
waet ) arom gt W € -
(AT Bl
(B)S irgad &l
(C) v=a = Bl
(D) ‘g =0
& )

Which'one of the following is directly related to
the appellate jurisdiction of the Supreme Court of

India?}

(A) +-Appeals made in constitutional cases only

(B) {"Adjudication of disputes between the Union
and the States

(C){{Adjudication of disputes between the States

(D)(Appeals made in civil, criminal and

wgonstitutional cases

Frfeiad & ¥ B W1 us Wa % gaie OEwy B

ardiive aifre & & wogeraan wafeg ¥ ?

(A) (bEe Haenfie gabesi ¥ & T ondr

(B) (Hy 3R Td & wey Ryaw) @ =g Rk

(C) Tui & wen foaml o = P

(D) A@r, swatus qar Gdenfe qoeHl & odey
€3y '

-lisa-
(A)-Rocket

(B) t‘,‘.5,'2_01131(31Iation
(C) Space Station

: (D)‘,_ costationary Satellite

dqe - 1 % up -
(A) Tk
(B) e
(©) sriftar Rem
(D) "Rex Juwrs

[ Contd...
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44/ ‘Which of the following statements is incorrect
regarding Governor of Rajasthan?
(A) The chief of Governor’s Secretariat is
Secretary of Governor who is an officer of
_ Rajasthan Administrative Services.

s (B) The decisions taken under the discretionary
power of the Governor can not be challenged
in the court.

(C) The Governor cannot grant pardon in the case
of death sentence.

(D) The Governor’s Secretariat is working to
provide administrative support Governor.

P @ @ A U TR % T & deu ¥

ad &7

<t § AR e & S wd |

©) mﬁq@gﬁa@r&ﬂ%mmﬁﬁ
oty o e &1

(D) rrmma?fmnaﬁﬁmﬂmm'aﬂ%%ﬁﬁ
U R T g

45 Which shortcut key is used to delete a file

permanently in Windows?

W’indowsﬁwﬂﬁqﬁwmﬂ?fﬂzﬁ%m
fog st Gt @ A o &7

(A) Delete (B) Backspace

(C) F2 (D). Shift + Delete

ng items of a column in a

46 The process of arrangi
order is called as -

particular sequence OF

(A) Autofill (B) Sorting

(C) Filtering (D) Arranging |
Mﬁw%mm‘rgjswmm(ﬁaﬂum
m)ﬁmaﬁuamﬁﬁmaﬂmm%:
(A) @it (B) aﬁiﬂ

(C) feweft (D) s

year was Chief Minister of

[n which budget
¥ e ‘Rajyastariya Panchayat

Rajasthan declared th

Award Yojana'?
o & e WA e

48 The compound which gives alcohol on
reduction is -

(A) alkyl isocyanide

(B) nitroalkane

(C) alkyl nitrite

(D) alkyl cyanide

At Pras auaat A e P g, qE T -
(A) Ofieher aTEEIAENES

(B) e

(C) oftepe Az21E2

(D) oftepe arAES

Study the following graph carefully to answer

the question :
Py U1 1 WEUF [dH AP B FH FIA

49

No. of Boys and Girls
e wd weiedl @ gem

B 2

A
Colleges / B

Boys / 5%

Girls / wsfeat

%

What is the res
students of college A to c?

s A @ C ¥ g frnfidi & wem 1 ST

pective ratio of total number of

fg @ a4 A

Garad oTs el &1 g @ @7
(A) 2015-16. (B) 2014-15
(C) 2016-17 (D) 2013-14

3R] O

T E?
(A) 2:3 (B) 1:2
(C)1:1 (D) 3:2
50 Where was ‘Rajasthan Sewa Sangh’ founded it
1919?
(A) Wardha (B) Ajmer
(C) Jaipur (D) Bijolia
1919 & w1 € £ e wE A T 4
(A) @ (B) 3T
(C) YT (D) fastiiewn _
6 [ Cont
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53

54

Which ;
Dis ex:i‘t:het;lnSW:el‘ ﬁgures marked A, B, C and
¥ the mirror image of the main figure?

A B, C¥R DA 3§ g
B o gy R @

Main Figure / ya1 sy

AN

Answer Figures / s mfﬁﬁﬁ

AR
M| oA

" In which year Government of Rajasthan unbundled
Rajasthan State Electricity Board (RSEB) into five
Government Companies?
rore TR 3 e A # o T fogd e
2 atg a@rd st § e o ar?

(A) (B)

©) (D)

(A) 2007 (B) 1995

(C) 2000 (D) 2012

Choose the correct preposition to fill in the blank.
Warning ! No unauthorized personnel this
point. .

(A) of (B) beyond

(C) besides (D) since

become the first Indian

Which mountaineer has
ts of five peaks above

Woman to scale the summi
8000 metres?

(A) Priyanka Mohite (B) Premlata Agarwal

(C) Malavath Purna (D) Arunima Sinha
F-8 e w soooﬁméﬁha’r&:ﬁ%
i (A) e A (B) e S
(C) wmrEd i (). ST
spR] O

55

56

57

58

59

60

‘A group of 1200 persons consisting of captains

and soldiers is travelling in a train. For every
15 soldiers there is one captain. The number of
captains in the group is - _
Far wd At % 1200 ARREH 0@ aE 3T q
7q wE § FAE @ gl 3

(A) 75 (B) 80-

(C) 8 (D) 72

a9 ¥ BE-ar gaE &7

(A) & Tged (B) aifyraTor agey

(C) T aged (D)... er9raT qged

How many days’ work is provided to urban

qnemployed persons under Indira Gandhi Shahari
Rojgar Guarantee Yojana?

éﬁrrrﬁ%hsm'&ﬂwmmﬁrm%eia*hw&

T ® Rea Rt % Qo #Y I & S ¥ 7
(A) 100, (B) 120
(C) 150 (D) 60

In a DBMS, the content and location of data is

identified by :

(A) Sequence data

(B) Metadata

(C) Minidata

(D) Subdata

DBMS # =121 % Hi¥e 9 @ B TwaH 68 B
S ‘
(A) Rrad@ =t (Sequence data)

(B) #ersrr (Metadata)

(C) Pt (Minidata)

(D) g=sTl (Subdata)

Replace the underlined part of the following
sentence with one word from the options given
below :

She teaches the science of the life of plants.
(A) zoology (B) biology

(C) pathology (D) botany —

In which physical region of Rajasthan Mukundra
Hills are located?

(A) Middle Aravali
(C) Hadoti Plateau

(B) South Aravali
(D) North Aravali

wwﬁéﬁ%mﬁi%rmu%mﬁg‘gmaﬁwﬁﬁ
e ¥ 7
(A) Fea sraadl (B) el srEet
(C) wrEd W (D) =l
[ Contd
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65

Read the following passage and answer the

question that follows, choosing the c_orrect optlon:
Recent research into antibiotic - resistant
bacterial strains suggests the need for a re-
examination of the frequency with which doctors
prescribe tz-m,ti[*aacterial therapy. One si_x.udy
demonstmﬁd. for example, that most_minor
bacterial in{w‘gc_lions will resolve without treatment
within 5 to 14 days of the onset of symptoms; a4
course of antibiotics might reduce that time frame
by only 1 t6"2)days. A second study indicates that
the incidc1'n$.o}‘“superbugs“. which have resistance
to a widecygriety of antibacterial agents, 1S
increasing significantly and that these bugs are
more likely to spread among those who have been
treated with-antibiotics within the past S years.

67

L= ) R :
Q. The passage 1s primarily concerned with -
(A) explai“?i{\g a change in the frequency with
which!antibacterial therapy is prescribed.
(B) contraSting the views of doctors and medical
researchers with respect to prescribing drugs.
(C) questjoning the routine prescription of
antibiotics for bacterial infections. “
(D) discussing research into the symptoms of

bacterial_infections
Q)
T -
(B) o
(D) 3md

68

e S [
(A) SR
(©) faasa (™)

=

69

Silver article™urns black when kept in the open
for a few days due to the formation of -
aTET B ﬁy@ﬁ?{gﬁr@%@rwwé‘ﬁ
T &Il ?fjrp% g7
(A) AgS
(C) Ag,S

&2 r~ -

(BL AgSO,
(D) HyS

The term ecblogy was coined by.-
(A) Aristotled (B) Reiter
(C) Khorand) (D) Brown
orez qrcRafadl 1 wdwam far & -
(A) aTG -~ (B). T2t

(C) gu-t o)

70

71

In Rajaslha’ﬁijission Buniyad’ is related to -

(A) E-Healilr services

(B) poverty eradication

(C) Police re{onns

(D) Digita Jearning
5 fas

' 1 @Y ¥ -

3 72

66 Who is cha

smgii of DRDUEE (o wn ser

December, 2022) -
(A) Dr. Vijay Singh (B) Dr. {\Iok Jain

(C) Rajwant B. Singh(D) Samir V. Kamat
DRDO 3 otz B & 7 (18 fea=T, 2022 & 9T
T i (B) =l aTreiie S

(D). @rT 1. FTd

DASH diet is recommended for patients suffering

from discase -
(A) ‘Liver cirrhosis
(C) Anaemia
g7 (0.0 0d.) e 3
3 o zg m @ A ® -

(B) Hypertension
(D) Gastritis
it Y W @ S

(A) aFd faifag (B) e @A™

(€) (D) SSLINY

The river which is known as the sorrow of West
Bengal is -

(A) Brahmaputra (B) Gandak

(C) None of these (D) Damodar
Hﬁ,ﬁ!’&qﬁﬂqwiﬁlﬁﬁiﬁmﬁm%.aﬁ%-
(A) wETgH (B) T=H

©) T ¥ HE A (D) THH

A man sold two tables for T 720 each. On o ¢
gained 20% and on the other he lost 20%. Find
his total loss or gain in this transaction.

(A) Profit of T40  (B) Loss of ¥ 40

(C) Loss of ¥ 60 (D) No loss no gain

s o 7 A A WS < 720 § A 1 gm WH
20% Y aa @ T 20% @ g, ° 3 B4 0
T @R ¥ g fea s A @ gen?

A) ¥ 40 &1 T (B) T 40 @t =i
(C) T 0@ wft (DL FIFT 7 @
fPrefufas ¥ ¥ wad W =K B 87
(A) gearEd (B)_ e

(©) 37699 (D) =&

The ratio of the side and height of an equilateral
triangle is -

qyarg e @ v ol S A ST i § -
(A) 3:2 (B) 2:1

(€) +3:1 (D) 2:43

fffaa & & @ TH T TE ¥ 7

(A) STETH (B) afergam

(C) e u= (D) ufte=

[ Contd...
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3R] O

Most of the pathogenic organisms that cause
diarrhoea are transmitted by -

(A) Faecal - oral route

(B) Insect - bite

(C) Animal to person contact

(D) Droplets

SIS T N S R @ o e ¥ 3
BEUEG G I

(A) Fa-vifas anf &

(B) &% & &1 §

(C) 9y &1 =fm & wud @

(D) €& &

Choose the incorrect statement -

(A) Graphite contains delocalized electrons

(B) Graphite can be used as a lubricant

(C) Graphite can not conduct electricity

(D) Graphite has layered structure

HET BUT B Bitew —

(A) TRz ¥ fariga @R W ¥

(B), TS H U Ted & ®I N g fbar W
ET S

(C) ¥reEe famd wartea el ®ar &

(D) ¥%ise i WA EIE Bl #

The ratio of radii of two right circular cylinders is
2 : 3 and the ratio of their heights is 5 : 4, then the
ratio of their curved surface areas and volumes
are respectively :

T WEgAd gl B el & U 203 g
SETEdl B AU 54 &, @ I Al % a9 g
GFT qUT TG B FIIE A & -

(A) 5:9;5:6 (B) 6:5;9:5

C) 9:5 6:5 (D) 5:6;5:9

If Ranchi is called Raipur, Raipur is called Patna,
Patna is called Cuttack and Cuttack is called
Bhopal, then what is the capital of Bihar?

(A) Patna (B) Bhopal

(C) Cuttack (D) Ranchi

gz 11 %1 Ty FEn W, T B A el e
&, Y %l %% dEl W ¢ a4 %% B WA wel
Al €, @ faer @ e @ # 7

(A) e (B). #iura

(C) @z (D) Tl

Which of the following reactions will not take
place?

et & & - sifufmar 761 e § 7

(A) 2KI+Cl, — 2KCI + I,

(B) Zn+MgS0, — ZnSO, + Mg

(C) Mg +Cuso, — MgSO, + Cu

(D) Zn+FeSO, — ZnSO, + Fe

78

79

80

81

82

83

vey 5 !

What is the synonym of “Deform™?
(A) fashion (B) distort
(C) beautify (D) mould

What is ‘Mokri’? TERINS T
(A) Woollen carpets

(B) Terra-cotta Pottery

(C) Wodden toys

(D) Lat'Bangles

sty 47

(A) FT afa

(B) firfrd e

(C) ) & R

(D) -trenar <fsar

If the ayerage of m numbers is n? and that of

-0 numbets is m2, then average of (m + n)

numbérslis -

-afe mdEen &1 ofrga n? ¥ ot 76 a1 n g

&1 afga-m? ¥, @@ (m +n) gEme & ofmd -
(A) nren (BL mn
©) q}[g{ (D) m+n

Y > s .
Which Blace is famous for Ajarkha Print in
Rajasthan?

(A) Sga“;éaner (B) Barmer

(C) Kota (D) Jaisalmer
s i % g o & Be-ar W e B 7
(A) €L (B) arsHY

(C) =y (D) SrEerR

o :
Whicheofy the following devices can perform both
input and output functions?
(A) communication device
(B) kr:é."\board
(C) mouse
(D) - tradkball F
frfeifige & & @-wn o wge o omoege M
& HIRACHY THar & 7
(A) daw feargs,
(B) @,

(C) wrag.

(D) e

s I ; :
anlvr_'_g‘andlu Rural Olympic games were
inaugurdted by Chief Minister of Rajasthan in

. .

(A) Jaipur (B) Jalore
(C) Hanumangarh (D) Jodhpur
A iel) unfor sl S @t SgEE TR %

e = g W fpar
(A)L-w1gge (B) W
(©) TgarmTs (D) wiaye
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84 Who among the following won his 25% world title Wit
‘M 2 et 90 t20—cosec’0 = ?
at the World Billiards Championship held at Kuala | 7 €0 '
Lumpur on 8-10-2022? (A) 1 ® -1
(A) Pankaj Advani (B) Geet Sethi . ) 2 (D) 0
(©) Adlty; ]';lehta (D) Saurav Kothari
Frefafiaa fre 8-10-2022 H FAREYX 2000 i
LUty s sy & o 25 o fasa 91 The cube root of 512000 is -
Rarra e 7 512000 &7 T & -
(A) st erEar (B) i & (A) 60 (B) 70
 (C) onfe Fwa (D) dra e (C). 80 (D) 50
85 India’s first electronic bank guarantee is issued by | 92 Which of the following sections does not exist in
which bank? a slide layout?
g 9% &0 WId @ TuH SeaRie 4% ML A (A) Charts (B) Lists
?(ﬁlr\ )11%3?3? (C) Animations (D) Titles
1 (B) PNB . a1 S TS
+.(C) BOB (D). HDFC T Sty F}W#W
86 Mahesh is 12! from left and Suresh is 12! from (A) IEH (B) fregw
right in a line of 19 boys. How many boys are (C) tfasrw (D) ZiEew
between them?
19 wEaHl & Uh tiﬁﬂj-’f 9T 9 ok ¥ 12 &1 @41 93 Which of the following features allow you to
g ol Sl & 1297 ¥\ A & 7em e W ¥ 7 narrow down the data in your work sheet?
(A)L3 B)4 2 1w b (A) Merge Cells
©) 5 (D) 2 (B) Fill Handle
87 ;_I:\f: official legal advisor to the state Government Eg; g;}l::;g
(A) The Attorney General Pt ¥ & - gl st oredr Fhere
(B) The Advocate General 327 F FH BT BT AW A © 7
(C) High Coufrt (A) Wt ¥w9 (Merge Cells)
(D) The Clne Justice B) fra@ ¥=w (Fill Handl
TG @R zﬁlﬂ}ﬁmﬁmiﬁ%ﬁm ®) .(' e
A & (C) frwed (Filters)
(A) HeraEant (D) witén (Sorting)
(B) wer aiferaai o e, .
(C) . vea < 94 Who was the first Chief Minister of Ajmer state?
(D) Fea =iy (A) Hari Bhau Upadhyaya
, (B) Heeralal Shastri
88 In how many phases the integration of Rajasthan (C) Jai Narayan Vyas
was completed? . (D) Bal Krishna Kaul :
(A) Slhh %g% ES?ewan T TG H qUT JE W BE 42
(C) Eight Ve A TuTEAT
mwﬁmqaﬁwﬁmﬁmvhﬁ{ugm? () B
(A) B (B). @ (B) ¥rawer e
J (D) 1| FOT B
89 Which of the following is the main component of
jute fibre? - 95 Find the missing number.
(A) Lignin (B) Pectin . Hifvr
(C) Hemicellulose (D) Cellulose g Het s :
ﬁwﬁﬁm—mﬁ;agwgwm%? 47 % 38=28374, 53 * 16=6135,20 * 92 =?
(A) R (B) W - (A)-2902 (B) 2920
© ¥Rgdm  (D)3gdm (©) 9220 (D) 1840
3PR ] O 10
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96 Which district is not situated in very humid climatic | 101 Who was the father of Ajayraj Chauhan of Ajmer?

region? _. (A) Vigrahraj II (B) Durlabhraj I
(A) Northern Chittorgarh (C) Prithviraj I (D) Chandraraj I
(B) Banswara _ ST & ST dre & frar B g7
(C) Baran (A) Feeet e (B). gefnt faha
(D) Sirohi _ ‘ (C) yedrmt wam (D) == fidra
o omd g Wy # - R Rea T8 ¥ 7
(A)-Sal fadisme - 102 BIOS is a part of which of the following?
o wd (A) LAN (B) ROM
((D) Rt 4 (C) WAN (D) RAM
o . 103 Who among the following, Governor consults for
97 Which of the following is a physical change? the appointment of Lokayukta in Rajasthan?
(A) Combustion of magnesium ribbon (A) Chief Minister and Chief Justice of High
(B) Burning of candle Court
(C) Melting an ice cube (B) Chief Justice of High Court and leader of
(D) Rusting of iron , opposition in the Assembly _
frefaftag ¥ ¥ Wfve oRads o= @ § 7 _ C) Chief Minister, Chief Justice of High Court
. ( b ool
(A) Fifyrm RE=w &1 &7 and l;ader of opposition in the Assembly
S B e (D) Chief Minister .
(g)aésaﬂf?uw -Tmmﬂmmwﬁrﬁghﬁ%mﬁwﬁ
© . ¥ fruds @y Trms HEar &7
(P50 R ' (A)g@uﬁsﬁmaﬁwwg@mﬂ
98 In hexadecimal number system the value of the (B) w= m:'rm:mw o et o foer w A
base is : ' e il :
S fyTe g WOl ¥ SNET @ I B € (C)g@ﬁ,mwwgmwﬁmm
(C) 16- (D) 2 | (D) Fe

99 During the period of which Maharana of Mewar | 104 Preaferfaq ¥ forer forarea ¥ wrerTas WeTgH o= 7
was “Chiteron Ki Ovari” an art school in the palace (A) e, wEH (B) Tm, sayt
established? (C). qau+, aradr (D) werg, Fa
(A) Maharana Amar Singh -
(B) Maharana Jagat Singh I
(C) Maharana Jai Singh

105 Translate the following sentence into Hindi :
He called a taxi for me.

(D) Maharana Pratap (A) S8 g3 EF g
Jare % fow g % @Hd Towed § R @ (B), 38 A fg ud et gard|
gl W ¥ e e @y e wr? (C) @& M vy us Tl @

(A) werm o e (D) S8 N TH T FEll

(B) _meraen sd R e

(©) TETO S fie 106 Who was the Chairman of First Finance

Commission of Rajasthan?

(D) werem gam ' (A) Krishna Kumar Goyal
_ o . (B) Jyoti Kiran
100 Which one of the following is newer mountain (C) Manik Chand Surana
range? o (D) Heeralal Devpura
(A) Aravali (B) Shivalik TR % wow fd oImNT @1 STmE wi A ?
(C) Vindhyan (D) Annamalai (A) Mad
Fretfifad & & @ @ T add e &7 (B)'z’:]%%“m
(A) S (B) ferafere (C) wfrs @z gawm
(C) fore (D). &g (D) e daga
3R] O 11 [ Contd...
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1 oan i
107 The river lndravatl is a trlbutary of the river

(A) Krishna -
©) K'wu'y e

(B) Mahanadi
(D) Godavari

ma'ci‘raa T8 B wergd T
(A) BuT (B) weral
(C) &l (D). MeEd

108 Consider the following situation, wh'\t can be said
about emergent ray / rays?

Emergent ray

White color

(A) ared light
(B) a white light
(C) a violet light
(D) VIBGYOR
Brfian Rt B e 3 @ g P e / it

maﬁﬁmmmm%?

(A) TTd TSI
(B) T%E WaHIEl
(C) T yamst
(D). faamat (VIBGYOR)

then the value of x? +2)E-F3 is -

1
42"

109 Ifx=1

afg x= %.?ﬁx?'+2x—|—3fﬁlﬂﬂ%—'

]
I+4++2
(A) 3+42
(C) 0

(B) 4
(D) 2442

110 *Terah Tali® dance is performed in the praise of
Folk God i
(A) Mallinathji
(C) Ramdevji

(B) Tejaji
(D) Gogaji

rreard’ I e daan @ wia § e
e
(A) W (B) dwmsi
oy (D) T
.
3pr] O 2

(fl'Jll

lll The blood cclls that protect the body from microbes
and other foreign substances are -
(A) Leukocytes (B) Platelets
.(C) Lymphocytes (D) Erythrocytes
g e o Tl Y gt o g arEdl qardf
i gl ad ¥, 9 E -
L (A) e (B) ]
¥ (C) w1 (D) THIT
112‘:-'w"d0r Indira Rasoi Yojana, Lunch is provided at
T+ per plate.
e Tairg dior & ot <
Cept WirST Suer wearn S ¥
=XA) 7 (B). 8
~(C) 12 (D) 17
ery .
113-In India, the Coniferous trees are found in ;
(v(A) Tropical Evergreen Forests
(B) Tropical Thorn Forests
(Z{C) Mountain Forests
(D) Mangrove Forests
< ¥ sigurdl g4
I™(A) swafdda weEer aF
(B)_swmfzadia wéw
TC) Wi
Cb) i =

ufe iz % 2TEt

T grg A 3

=

ll{'“.'f;lobel Peace Prize, 2022 was given to Ales
ialiatski.

'"He is from which of the following countries?

W, ‘,EA) Belarus (B) Russia
" (C) England (D) Ukraine
" i e @ i i geET, 2022 & FEItE
TAarl
flﬁlﬁfﬁf@ﬂﬁﬁféﬁﬁﬂﬂﬁ%?
(5 s (B)
~(C) §vs (D) g

i —

115, When was National Rural Employment Guarantee
o §chcmc was renamed as Mahatma Gandhi National
¢vRural Employment Scheme?

(A) 2 October, 2009 (B) 2 October, 2008

(C) 2 October, 2010 (D) 2 October, 20035
Tr_ﬂih vy ﬂwrrt\rrrtvfr WhHIH &1 AT q5T BT TETH]
i Ty grfior TS @i e Rear war ?

(A) 2 siggay, 2009 (B) 2 @Ay, 2008
(CL 2 s@gay, 2010 (D) 2 s@zay, 2005
[ Contd...
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116 The Summit of the Shanghai Cooperation
Organisation (SCO) was hosted by which country
from 15-16 September, 2022?

(A) Kazakhstan (B) Tajikistan
(C) Uzbekistan «.(D) India
sieré e weA (GaAoN.) ¥ Rret W W

Aorardt 15-16 Rz, 2022 @& fea 29 A A a7
(A) HarEE™ (B) wehfer )
(C) swafpmm™ (D) M1 (?
)y
117 Select the odd man. %
(A) Rubal (B) Riyadh [
(C) Riyal (D) Taka
fow Y wif X
(A) waa (B) fam ©
(C) T (D) T, A%

118 In a triangle AABC, 2/4= 34B = 6/£C¢ then
ZA. ZB and ZC respectively are - w
@@ B AABC ¥ 2£4=3/B=6/C, W
LA, /B @ £C wmw: ¥ - K

(A) 90°, 60°, 30°
(C) 900, 450, 45°

(B) 30°, 60°, 90° M:
D) 60°, 90°, 30° ©
(D) o

119 Which of the following decades in Rajasthan has

highest population growth? L
Preiifed ¥ ¥ B0 2y ¥ (o § Seer gia
77 Soaad @7 &
(A).-2001-11 (B) 1971-81 i
(C) 1991-2001 (D) 1911-21 e

120 The least distance of distinct vision for a young
adult with normal vision is about - ")
ngﬂw'm%mﬁmﬁg@m%?
(A) 2.5cm (&40) (BL 25cm (#H)
(C) 2.5m () (D) 25m () f‘*:_i

121 Which of the following industrial areas isinot
located at Jodhpur? ™
(A) Boranada - IlI
(C) Mandore

(B) Napasar 4]

(D) Pal Shilp Gram...

O o i o g A et 7187
(A) araEret - 11 (B) Amara?

122 Two cubes of side 5 cm each are joined to f;(':'v“f'm a
cuboid, then the length of cuboid so forméd!is -

Which of the following is not used in fiF
reparation of soap? |

(A) Stearic acid

123
(B) Lauric acid
(D) Palmitic acid

o a‘?‘;‘;;‘ff;a;}ga T % )
(A) e o (B) @i o
(Cy, s v (D) e ST

What is the main attraction of the Kanan Fair of

Barmer?
(A) Bhawai dance

(C) Gair dance

124

(B) Ghudla dance
(D) Gidda.dance

W@Tgﬁwﬂamg@m&mw%?
(A) v T (B) TF ¥
(C) T 7™ (D) firg 7

Rajasthan State Ganganagar Sugar Mill is a -
(A) Cooperative sector company

(B) Government undertaking

125
(C) Joint undertaking of Government and privatA

sector

From which civilization have the remains of well
developed walled fortification found?
(A) Ganeshwar (B) Kalibanga
(C) Balathal (D) Pilibanga

126

%ﬂgﬂﬁﬁmﬁﬁmﬁﬁﬁgﬁ%ﬁﬁ_‘ % G
oy

(A) AT (B) HTATETT

(C) arngd (D) e

What is Nad?

(A) Four strips of wood

(B) Attached flutes

(C) One stringed instrument
(D) A long flute -
T g7

(A) WS & uR wiEl

(B) i aigfa

(C) uen AT 9rer 9

(D) ww ot argd

Gregor Mendel, through his work on which of the
following, discovered the laws of inheritance?

127

128

(A) 10 cm (B) 15 cm ™ (A) Mustard (B) Sea Urchin
(C) 20 cm (D) 5cm o (C) Peas (D) Beetles
5 gt o % & WA @ ol OB T L T Avee e v @R B SERE &
%|ga;raarra9fu=w g & - 8 giqufda fpa?
(A) 10 &0 (B) 15 @ (A) W (B) WA aiff
(C) 20 & (D) 5 &h (C)- e (D) i
3PR ] O 13 [ Contd...
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129 Under whose leadership was the excavation work 133 Whith district of Rajasthan is the part of very

of Ahar accomplished? humid climate region?
(A) H.D. Sankalia (B) B.B. Lal (A) Kota - (B) Jaipur
(C) V. N. Misra (D) V. S. Wakankar (C) Bikaner (D) Ajmer
ATES Bl SeaT FH e Agd ¥ Frowied gon wi? T & - R i o Seerg gest &
. (A) T d. sk (B) 9. AL @@ &7
(CL-<v. w. T (D) <. Td. drEvTEhT (A) @ (B) sEgX
(C). ATt (D) et
130 Choose the correct option.
The tone of a circular should : 134 Who was the first Indian to scale Kanchenjunga
(A)‘ remain the same for any kind of audience in 1977 and is known as ‘Snow Tiger’, who died
(B) be humorous : recently in October, 20227
(C) be strict (A) Pankaj Kumar
(D) be different for different kinds of audience (B) Umesh Zirpe
a _ (C) Colonel Narendra Kumar.
131 Amarshahi is the name of - - (D) Col. Prem Chand
(A) Jewellery (B) Terracotta Vessel B ‘H'T___EE"TT’ a9 ST 9 gt ud 1977 #
(C) Pagdi (D) Jooti (Footwear) TSI B e FT T 999 HArg a1, fsn g
el fpgat A ¥ 7 ; & F @Ey, 2022 ¥ 9 & 7
(A) ST (B) Y &1 = (A) & AR
(C)- T (D) < (B) wiw frd
(C) &i@ Tw PN

132 Which one of the following is NOT a feature of ._(D') T AHES
- Rajiv Gandhi Scholarship for Academic Excellence :
Scheme, 2021 announced by Government of | 135 Which data type is NOT in M.S. Excel?

Rajasthan? (A) Currency (B) Label

(A) The objective of the scheme is to provide (C) Date/ Time (D) Number
financial assistance to students of Rajasthan T § BT T AW TLIE. e ¥ T8 %7
to study in top foreign universities. (A) (B) daw

(B) Minimum 33 percent seats are reserved for (C) ¥ | T=H (D) =
girls in this scheme.

(C) Higher priority is given o students. whose | 136 Justice Pankaj Mithal is Chief Justice of
parents’ annual income is less than ¥ 8 lakhs. Rajasthan High Court. —

(D) It was announced on 20-08-2021 on the (A) 49th (B) »gth
occasion of birth anniversary of Rajiv Gandhi. (C) 40t (D) 38t

ﬁqﬁﬂgaﬁammﬁwmﬁﬁﬁwﬁ“ﬁ‘f{ aﬁm@‘wﬁxwwﬁwa‘;*“"a
. quﬁrﬂﬁﬁa{qﬁﬁawﬂ,2021 ?ﬁﬁé’mm g@qwﬁhﬂ Ed

bl - (A) 49 (B) 29
Py Pgaferaerdi & s % fg foreity werad | -
il 137 Vijay Hazare Trophy i associated with whi¢
@ § gAan 33% W wetedl & sport?
@ iﬁéﬁ z o (A) Hockey (B)) \F’ollfg;ﬁall
| | i (D) Foo
©) wmﬁ.%ﬁmaﬁﬂlﬁﬂimi’g © Cncketv a3 b
orE & w9 @ ST ved b & ﬁ[ﬁ'ﬂ?‘qﬁgﬂﬁﬁﬂ"a"‘g;?mu
(D) g dem T i & 9 e w 20-08- (A)giebr - A
2021 @ & T AN | (C). Rrdhe 2
3R] O 14 [ Contd
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138 The members of Panchayat Samiti'in:Rajasthan
are - '
(A) indirectly elected.

(B) nominated.
(C) appointed by the State Government.

(D) directly elected.
Tt ® U gifa & ged -

139

140

141

142 ‘a7 9= @1 gd) €@ faode ¥ -
A) &% + 4= (B). #® + 9%
(C) 9 + o= (D) % + a8

143 According to the India State of Forest Report 2019,

144

3PR ] O'

(A) sy &g A Praffad 9@ ¥
(B) WM\ B T

(C) Ta @R & frgw B ¥
(D) wee w9 ¥ Praifam @@ ¥

‘m‘ﬁmﬁﬁ;ﬁwﬁmswxﬂﬁ%—
(A) o, (B) =g
(©) @ (D).

Camel Research Centre is located at -
(A) Bikaner (B) Jalore
(C) Sri Ganganagar . (D) Barmer

Sz e &% faa ¥ -
(A) SHHT H (B) WX &
(C) it § (D) @A H

Change the voice of the following sentence from
the options given below :

Who teaches you such things?

(A) By whom you were taught such things?
(B) By whom are you taught such things?

(C) You were taught such things by whom?
(D) By who was you taught such things?

the number of states (Not Union Territories) having
percentage of forest cover less than 10 is -
sfegr &2 ai% B e 2019 & orgart 3 1ol
(32 onifa waaT TEN) @1 @A STl o &t wfiard W
0@ a9 8 qEE -

(») 6
(C) 8

(B) 7
(D) 5

Fill in the blank with the appropriate article.
Eat banana everyday to keep yourself
healthy.

(A) the

(C) zero article

(B) an
(D) a

15

145 Who is the Basketball legend and Arjun awardee

146

147

148

149

150

who died on 15 November, 2022?
(A) Sarabjit Singh
(B) Gurdayal Singh
(C) Khushi Ram aul
(D) Ghulam Abbas Moontsir

¥ R 15 AaE, 2022 @ dEr B mar?
(A) wtaetd fiE

(B) e fie

(C) g

(D) e oA HeRiT

Where is ‘Great Indian Bustard’ found?
(A) Keoladeo

(B) Desert National Park

(C) Sajjangarh

(D) Ranthambhore

e HEl U S & 7

(A) _hawmed ;

(B) U™ HE SE

(C) g e

(D) ToreIT

(¥

Which one of the following Articles of Indian
Constitution deals with the Oath of Governor?
(A) Article 155 (B) Article 158

(C) Article 159 (D) Article 154

wta % wfee & Feafafad fee agede § g
0 9TqY @7 yrey fmr w27

(A) orgeT 155 (B) orgedE 158

() =% 159. (D) g% 154

How much percent area should be under forests in
the plain area according to National Forest Policy?
T 9 Ay & SFa der & | foaw wiasa d&
& ol & vl BT Qe ?

(A) 20% (B) 9.32%

(C) 3.83% (D). 33%

Choose tl.lc correct ten i i
se of the verb given in
bracket. ' ' = the

Do you (speak) English?
(A) Spokep (B) speak
(C). ‘speaking (D) spoke

The power of a convex lens is -
(A) negative ' (B) zero
(C) infinite (D) positive
Idd dF B AT By -

(A), FoTIcH (B) o=
(C) g (D) s\ TS

[ Contd...

Scanned with CamScanner




